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Section A, Instructions
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SECTION A — Multiple-choice questions 20 marks

Answer all guestions.

Click on the letter button to choose the response that is correct or best answers the question.

Your answer is confirmed in the box at the base of the question.

Click on the 'Next' button to navigate to the next question.

Each question is worth one mark. Marks will not be deducted for incorrect answers.

Answers will be automatically saved.

You can review and change your answers at any stage.
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This drawing is an example of
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| Cc | a dimensional drawing.

|F| a perpendicular line drawing.
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Selected response:

Click on an answer button (A, B, C or D) or use the keyboard fo select your answer.

‘ BACK ‘ ‘ NEXT
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Which three visual design elements have been used to produce this logo?
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1) 2] Selected response:

Click on an answer button (A, B, C or D) or use the keyboard to select your answer. ‘ BACK ‘ ‘ NEXT
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Section A, Question 3 ‘ TIMES ‘ MATERIALS ‘lmrmﬂnnwa STRUCTURE ‘ EXIT ‘
E_%J Complementary colours are any two colours that are directly opposite each other on the colour
[I ; I]% i | wheel.
[T][?J Which of the images contains complementary colours?
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E 5 {{ -+ { |i| green and purple
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[m[?] |£] orange and red
(17 [ 18 |
(19 |[ 20 | B
( J | C | green and red
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| Section C |
[ Intro || Guide |
(32 J Selected response:
(3 ) 4]
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ ‘ NEXT
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Section A, Question 4
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Who would be the most suitable person to ask about the advantages and disadvantages of a

specific delivery platform?

| A | sUpervisor

B programmer

| C | graphic designer

| o | information architect

Selected response:

Click on an answer button (A, B, C or D) or use the keyboard fo select your answer.

‘ BACK ‘ | NEXT
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STRUCTURE

=5 Which hexadecimal code represents the colour green?
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 6 ‘ TIMES ‘ MATERIALS ‘lmrmmrnus ‘ EXIT ‘

= Testing the markup validity of web documents involves

using the W3C standards.
(e )10 ] —
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(3 |14 | -

[ 15 J[ 16 | |£] ensuring that all the links work.
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| € | careful checking by a colleague.
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| D | employing multiple browsers and workstations.
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Which of the following statements about copyright is correct?
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| A | Copyright is not enforceable by law.
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ID| A patent is necessary for an author to hold copyright of a published work that they have created.
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(intro Guke)
L1 2) Selected response:
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 8 ‘ TIMES ‘ MATERIALS ‘lmrmmrnus ‘ EXIT ‘

= Which of the following sentences is not written in active voice?
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|B| The policeman arrested the criminal.
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| € | | found the stolen money under the bridge.
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| D | 'Happy Birthday' was sung by the school choir at assembly.
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 9
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STRUCTURE
For what purpose is the following slogan likely to be written?
'Sam's Sensational Steam-Cleaning Service'
|E| marketing
| B | educational
|E| networking
|E| informational
Selected response:
Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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o As an animator, you have been asked to develop a short 2-D animation for television that

will contain both a walk cycle and lip synch.
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Which frame rate is most appropriate?
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 11

[ Section A |
L3 7 ]
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EEREDD
(15 )8 |
EIAEN
(19 [ 20 |
| Section B
[T 7]
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(5 )6 |
(7 (8]
ERED
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(13 J(14 ]
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| Section C |
[ Intro |[Guide |
(2]
(3] 4]

(5]

INSTRUCTIONS
The movement in this animation was most likely produced by
|i| shape tweening.
| B | frame by frame animation.
|£| motion tweening along a path.
|£| motion tweening and frame by frame animation.
Selected response:
Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ ‘ NEXT
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Section A, Question 12 ‘ TIMES ‘ MATERIALS ‘lmrmmrnus STRUCTURE ‘ EXIT ‘
[T][E—] Today's date is 15 November. You have created version six of an image file as part of a large
3 ][ 4 | digital media project called Horizons. It is the 14th image of a sunset appearing in chapter three.
[T][TJ It is to go in the directory: horizons/chapter03/images/sunsets/
[ 7 ][ 8 | Which of the following is the most suitable name for the file?
[ 8 [ 10 ]
{” }[' 12 | [A] 14 v6 15-11-12jpg

13 || 14 | o
(15 ][ 18 |
[17 ][ 18 | ==

: |B| 14_151112_v006.jpg

(19 ][ 20 | — 3 Sl
| SectionB |
[ 1 ][ 2 | lc | 15-11-12sunset14v006Horizons. pg
(3 )[4 | -
(5 (e J

7 8 e
E : %{ 5 { |£| sunset 14 v006 Horizons 15 Nov 2012 _jpg
(11 )12 ]
[ 13 ][ 14 |
(15 ]
| SectionC |
[ Intro | [Guide |
(Y 7] Selected response:
(3 ) 4]
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 13
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INSTRUCTIONS
The red dots labelled a and b, seen in the first frame of this animation, are
|E| shape hints.
| B | placeholders.
|E| anchor points.
|E| reference points.
11 || 12 |
13 || 14 |
[15 |
| Section C |
| Intro ||Guide |
S ES Selected response:
L3 ) 4]
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ ‘ NEXT
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STRUCTURE ‘




IDM_Exam_2012

STRUCTURE

Section A, Question 14 ‘ TIMES ‘ MATERIALS ‘lmrmmrnus ‘ EXIT ‘

= Intra-frame compression occurs when

25 fps have been compressed.

| B | allframes have been compressed.

| c | no frames have been compressed.

| D | data within single frames has been compressed.

| SectionC |
(intro (Gude GuheJ
[ J[ Selected response:
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT




IDM_Exam_2012

STRUCTURE

Section A, Question 15 ‘ TIMES ‘ MATERIALS ‘lmrmmrnus ‘ EXIT ‘

= Which of the following best describes metadata?

It encodes and decodes video data.

| B | it contains the keyframes of a video file.

— | Cc | It controls the delivery of a video stream.
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| (B] | It is associated with a video file to make searching easier.
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Questinn 16 ‘ TIMES ‘ MATERIALS ‘lmrmﬂnnha STRUCTURE ‘ EXIT ‘
F_][i]ﬂ What is the purpose of a container file?
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[ 15 ][i 'iﬁ_ﬂ |£] keep the contents of a file secure
[17 ][ 18 |
(19 ][ 20 | B

| € | increase the quality of a media stream

| SectionB | —

e
ERER
(3 [ 4 | -
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(11 )12 ]
[ 13 ][ 14 |
(15 ]
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[ Intro || Guide |
[ i J[ 2 | Selected response:
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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STRUCTURE

| o |

=5 Which of the following output file formats is not a video file?

| A | v

|E| JPg

lC | wmv

|D| .mpeg

[ 2 | Selected response:
| 4

Click on an answer button (A, B, C or D) or use the keyboard fo select your answer.

‘ BACK ‘ | NEXT
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Section A, Questinn 18 ‘ TIMES ‘ MATERIALS ‘lmrmﬂnnha STRUGTURE
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. ‘ BACK ‘ | NEXT
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Section A, Question 19

.
&

— e W S W
=k
. N
-k
i
 — Ly el ) e’ St

4]

ey

— | =
o

— —

|| I S | | s
=J || Cn
‘—h
ﬂ

| R B S L, S S S SR

o
@
2

e, e

=1 it '
Gy ||| =2

|

=S Y i N e W "
0w || =4 ﬂ'l‘

ki
(=9

e e e A

—
s
Cad

W

p—
—L
P

4
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STRUCTURE

| o |

Edward de Bono's white hat represents information.

The white hat focuses on

investigating the facts.

responding to the facts.

considering what the facts are.

finding the benefits in the facts.

Selected response:

Click on an answer button (A, B, C or D) or use the keyboard fo select your answer.

‘ BACK ‘ | NEXT
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| o |
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| D | reflecting on their application.
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Click on an answer button (A, B, C or D) or use the keyboard fo select your answer. End of Section A ‘ BACK ‘ | NEXT




